Transition economies in Europe

An introduction

Since 1989 twenty-eight countries of Central and Eastern Europe (CEE) and the Commonwealth of Independent States (CIS) have been formally moving from once Marxist economies to members of the free market club. 

Each has its individual characteristics but all share one common heritage, which is that they are attempting to leave behind them many years of a planned economic system. Until the beginning of significant changes in the former Soviet Union in 1985 each lived with a version of a command economy that decided all of the questions relating to what were produced, in what quantities and for whom anything was produced.

For some, such as Hungary the journey has not been that difficult, whilst for others even now, in 2004, they remain poorly developed.

When each of these countries embarked on what for some has been a perilous journey few had any idea how a once centrally controlled economy could be brought into the world of free markets. So, let's look at what they faced before they began to try and embrace all that is part of the way of life you and I take for granted.

Self sufficiency - for both economic and political reasons the 'Communist' countries tried to stay independent of any form of reliance or connection with western economies. 

The Price System - In western economies prices send out signals as to what should be produced, at what price etc. For Marx this simply created an unfair system, in which certain groups exploited others. Collective ownership and all economic decisions were made by the central authorities. So, prices did not fulfil the same function as they did in a market economy.

Growth - throughout their history many of the 28 states we are analysing strove to catch up and beat the capitalist 'west'. This led them to invest a large proportion of the GDP in capital goods and match the might of the US in the creation of arms. The opportunity costs of both arms and the space programme must have been very considerable.

So, how did these economies actually function? For many of you they remain little more than names on a map, or news broadcast but for your parents they were countries that were the 'enemy' throughout much of their childhood.

Property Rights - there was no single model as to who owned what but in general the State owned everything. State Owned Enterprises ( SOE's) ran agriculture, industry and services. Everything was planned from the centre.

Planning - In all CPE's the way in which SOE's were run rested with the central authorities. All businesses rely on others for part of what they need to produce their individual good or service. To be able to plan such a complex system of reliance’s on others the Cape’s had to devise what became known as input-output analysis. This has as its starting point the need to establish what each industry needs in terms of material balances. So, the planning authorities would have had lists of source requirements and the uses for whatever they were analysing. They then had to match the source numbers against the use numbers. If they balanced then all could proceed. If they did not, then from within their economic group (COMECON) they would have needed to import the balance. Such a huge and complicated task relied heavily on early computer technology and was prone to errors and inefficiencies.

The role of international trade - Over three-quarters of trade entered into by these countries was between themselves. We must remember that external trade was only conducted to 'balance' the material needs of industries. It was subject to the laws of comparative advantage and it was not seen as a way of increasing national income. Within the planning system was the Foreign Trade Organisation, which had a monopoly power over all trade of each industry. The Council for Mutual Economic Assistance(COMECON) engaged in the creating of vast five-year plans, which planned the needs of all members and the inter-dependency that each had to the others. 'Shortfalls' were to be catered for by importing a surplus from another member. Each specialised in certain things and then exchanged these within COMECON. The prices of these imports and exports were given against world prices but no actual payments took place when trade arose. Instead, the selling country received a 'credit' in the COMECON International Bank for Economic Co-operation. These credits were not convertible into hard cash and were really little more than swaps of much needed pieces of equipment or products. As such the member states gained little from international trade and had few incentives to improve quality or delivery.

Capital Markets - all banks in CPE's were State owned. The system had four main parts, which were: the Central Bank, which as our does acted as the lender of last resort to SOE's. Then there was the Investment Bank, which was responsible for providing money to SOE's for their agreed investment within each national plan. A set of Sectoral Banks dealt with foreign trade and agriculture and finally a Savings Bank, into which ordinary citizens could put their money. Within each sector was a form of money, though it was not transferable within the system and so failed to have one of the essential qualities seen in capitalist economies, namely it could not act as a medium of exchange.

Planning
We must not simply feel that all of what happened in these communist economies was a failure. The USSR became a superpower and other members of COMECON lifted desperately poor people out of poverty. But we can trace some fundamental difficulties with this form of economic system.

These were:


* Inefficiencies as collective ownership created few incentives and scope for personal reward was very limited. Why should individuals strive to 'better' themselves when the State would provide broadly the same faculties for all, regardless of your status? Within the system the planner had to decide on capital-output ratios, which showed them how much could be produced from each unit of capital invested. The source of such information was Enterprise Managers. In reality they had more information than those responsible for planning the economy. This led to overestimates of capital requirements and underestimates of what could be produced. Targets were therefore set that 'satisfied' the managers but were actually under recording of what was possible from the stock of assets being used. Most targets simply said 'so many' but not of what quality. An example of this is agriculture. Land usage in most CPE's was high but yields remained low by world standards. They had an abundance of tractors, as planner target were met, but they often experienced a shortage in vital spares. So, the output often fell to low levels and rationing had to take place for basic foodstuffs.

Workers were normally made promises of 'extras' if they met totals and not necessarily quality targets. Such 'extras' might include holidays, though these tended to go first to party members. With rewards being given against volume 'free rider' problems arose as 'good' workers got the same rewards as 'poor' workers. What might have appeared a morally rather pleasing system actually resulted in low output and productive inefficiency.

The CPE's also appear to have suffered from diseconomies of scale even though they concentrated on large-scale production. They tended to 'over produce' and so lose the advantages associated with producing on that part of the LRAC curve that allows economies of scale, or at worse constant returns. Within their productive systems firms held a monopoly position and so had little incentive to seek cost efficiencies.
Prices within planned economies bear little relationship to either the costs of production or the satisfaction consumers feel they will get from purchasing the end results. Put simply they do not act as signals. Within the members of the Soviet Unions' empire each had to allocate resources according to what the planners wanted to achieve. This was normally focused on heavy industry and weaponry. As such many of the simple necessities of life were in short supply. 

It seems that such a huge system often let down those it was designed to serve. Numerous inefficiencies arose and shortages of essentials were common. The supply-side of these economies seldom functioned effectively. They also recorded:


* suppressed inflation - as prices were kept artificially low and did reflect the true demand and supply situation


* Hidden unemployment - as much over-manning took place within industry


* Budget problems - as little financial control was exercised within the Sue’s
However, in 1985 things began to change. Glasnost (political change) meant that a more 'open' society began to emerge and Perestroika allowed for radical reform of the planning system. 

What does it take to change from a command economy to a market economy? 

The process was not going to be an easy one and there is little doubt that (a) some made vast sums of money as the transition took place and (b) many, especially the older citizens look back at past with affection.

The main reforms were:


* Price liberalisation - put simply the forces of demand and supply was introduced to these economies. Where prices had been set at levels beneath market equilibrium and supply had been pre-determined, the excess of demand led to queues. The lifting of price controls led to sharp increases in prices but his did begin to bring forward greater supply. There is little doubt that economic welfare increased, some would say by as much as 10% but in the initial phase many saw huge falls in their standards of living. 


* removal of subsidies - if an economy is to fully accept market forces then it has to take away any mechanics of keeping prices artificially low. It was surprising that some countries, especially Russia removed subsidies in phases. This was particularly the case with food, fuel and housing. Some were also conscious that once monopoly SOE's would use their new market power to raise prices. Much of the delay was based on the fear that unstable political systems might result in anarchy.


* Privatisation - the profit motive, as we have seen in the 'west' was a feature of the 1980's and early 90's. The small-scale SOE's were quite easily returned to the private sector. They have also had to face competition from external business, such as MacDonald’s. But large-scale privatisation faced similar problems to those experienced in western economies. Huge redundancies would be needed if these monoliths were to become competitive and attractive to outside capital. Profit maximisation becomes the driving force and shareholders monitor management performance. A failure to reward the owners at levels they want can mean termination of managers' contracts. A company which is underperforming is liable to takeover and once again managers often lose their jobs. So, the market rules and stakeholders have to be aware of each other interest in the enterprise. Few of the former command economies had active managerial sectors and stock exchanges, so they faced a choice, or set of choices as to how they would privatise huge SOE's. They could:


* Simply sell to the highest bidder


* offer the business to the public via a voucher scheme


* allow management buy-outs


* Simply give away what were in many cases relatively old and worn out assets to anyone who would take them. They tended to chose either the first or the third option. Simply selling a business does not guarantee success. The entire culture had to be changed. Management had to be taught how to control huge and now profit making enterprises. Stock and quality control needed careful updating and financial management was seldom obvious in the old forms of Sate ownership. In some areas, such a motor vehicle manufacture and food retailing some SOE's were sold to overseas MNC's.


* trade liberalisation - the old SOE's had been monopolies and this had to be stopped. The markets had to be 'opened up' to new entrants and many of these would come from outside the former Soviet Block. They would want to see currency convertibility. This would allow resources to allocate according to comparative advantage and so build both immediate and static advantages and boot into the economies the dynamic qualities associated with capitalist economies. To achieve this all state monopolies have to lose their market control, tariffs, quotas and all non-tariff barriers have to be removed. 

Last but by no means least the currency has to become convertible. In some cases a few protectionist barriers were allowed as it was feared that the newly moneyed classes would suck in vast amounts of imports. But after an initial phase of transition the barriers have to come down and such important features as the law of contract have to conform to those expected in capitalist economies.

Many of these 'new' economies did have one advantage, namely their geographic position. They were close to the fast expending EU. This offered a lucrative market for some of the exports of the former communist economies. They have received preferential tariff agreements and in 2004 a number of them will formally join the EU.

The rather difficult problem of currency convertibility now needs to be looked at. Most of the 'new' economies have opted for a fixed exchange rate (again it might be worth a pop up on types/advantages/disadvantages of fixed and free exchange rate systems). This is because after much thought and research they decided that if the right rate is selected speculation will be minimal and business can adapt. They rejected a free system as they feared depreciation, which in turn would add to the uncertainty of transition.

To underpin all of these reforms the authorities had to change the way in which the financial sector operated. This normally took the form of:


* establishing a Central Bank that has independence and the sole right to issue money. It also has the power to act as lender of last resort to the emerging commercial banking sector.


* creating a financial system that both encourages and channels savings into investment opportunities


* setting up a trusted regulatory body to oversee all financial institutions


* developing a market in which government can sell its bonds and so increase its ability to spend on facilities that benefits its citizens

There has not been a 'one model suits all' situation and bankruptcies have arisen. However, as we write the banking sector is beginning to be recognised and amongst those moving towards full EU membership the degree of control is now recognised as good.

What then has it cost to transfer from a command to a market economy? 

Again with so many individual countries moving through this process we have to generalise but the major costs seem to have been:


* Inflation - some authorities decided on a one-off 'jump' in prices as they liberalised their economies. Naturally, this led to a significant increase in basic prices. In many of the economies under review consumers had always failed o get everything they wanted, so many had extra sums of money saved somewhere, or what we call 'monetary overhang'. When the market was liberalised they used these sums to buy what they wanted. Demand tended to overshoot supply and this also led to increased prices. This put the authorities in a dilemma, for if they did not allow wages to move in line with prices living standards would fall and this could cause civil unrest. So, wages were moved upwards, regardless of productivity and this too caused some price inflation.


* Unemployment - in many CPE's the first years of transition saw GDP figures fall considerably. The collapse of COMECON led to sharp falls in exports between former member states and without planning a sense of direction was lost. With the liberalisation of international trade those who could afford to bought from overseas. This led to a further fall in the demand for domestic goods and services. The consequences of falling output were massive increases in unemployment. This was increased further as former SOE' shed labour in an attempt to become more efficient.


 * Macro problems - with recession came a fall in government revenues. Yet to stop a complete collapse of many essential industries the government had to increase subsidies in the short term. Almost overnight the social protection programmes, which had mainly been the responsibility of SOE’s, became the property of government. This meant that they had to fund expenditure. It is not surprising to discover that budget deficits rose at an alarming rate and without a bond market the authorities could not fund their debt. For many they had no alternative but to print money and well know what can happen when that takes place!

So, what is actually happening as the transition takes place?

We can use AD/AS analysis to show what we think is taking place as an economy moves through a transition.

The problems of a typical transition economy are shown on the following diagram. The employment line underneath the diagram represents the relationship between out pot and employment. It shows that to achieve extra output a larger amount of labour will be needed. With planning coming to an end the supply side of the economy became detached. The AS was therefore shifted to the left. With a monetary overhang coming into effect an increase arises in AD. This would also have been fuelled by the increase in the money caused by the government printing money to finance budget deficits. The falling output coincided with an increase in prices and falling levels of employment. With COMECON ceasing to exist and a surge in imports the AD curve shifts left. Thos governments who adopted a shock period began to impose conventional ways of controlling the macro environment and used monetary and fiscal, policy to reduce inflationary pressures. In short they imposed a deflationary shock on the economy. There was also a shedding of labour in order to improve productivity. Inflation was curbed but output fell further and unemployment rose.

This model fits all the transition economies but each reacted differently to its basic consequences. The Central and Eastern economies began to surface from their self imposed time of reform as early as 1994 and it is not surprising to note that they were mainly the nations who asked for early entry to the EU. The same was recorded by those CIS members who are in what were the southern extremes of the former Soviet Union. They were just starting to emerge as the century came to a close.

Why did some take longer than others? Well, as in any economics question 'it all depends'. For some it may have been the size of their pre-transition private sector. A factor which is said to have allowed Hungary to move into international trade earlier than some of its neighbours. It seems more likely that a mixture drove the pace. Amongst these were:


* That the shock therapy used by some was painful but more successful than the gradualist approach

* the determination and ability to control inflation - this meant that the economy could use prices as true signals of demand and supply factors and they could move into being internationally competitive


* The ability to attract Foreign Direct Investment - which shows that your domestic regulations are attractive to outsiders. This allows for a transfer of technology and an improvement in the skills base of the economy. It is also a major driver of the hoped for multiplier effect.


* The ability to improve labour productivity and so overcome the legacy of the former planning regime, which seldom rewarded labour productivity


* The ability to raise and channel domestic savings into investment.


* The proximity to international markets, in particular the EU

All of these seem to assist the CEE countries to transform more quickly than their CIS rivals. 

So, for some its now time for an exercise in Enlargement

Membership of the EU is now a major goal of many of the former communist states. They see integration as forming a big boost to their economic growth. They hope to benefit from:


* Economies of scale


* Enhanced competition and the driving down of costs


* Greater innovation and product development


* More inward investment and technology transfer

All of these should boost GDP growth and therefore the standard of living of the average citizen.

To join the EU they will have to display:


* Stability, democracy and a protection of individual rights, especially those of minorities


* A market economy that functions smoothly and can compete with fellow EU members


* Effective competition policy and an ability to live within the rules of the European Single Market.

These may seem quite straightforward but for them all they will require enormous changes. These will include:


* Restructuring in order to become competitive - this will involve closures and further rationalisation


* Greater geographical and occupational mobility within the workforce - this too will result in movements within the workforce with adverse consequences for short term unemployment


* A move away from agricultural dominated economies - CAP will not be fully available for new members

The EU has noted these problems and as part of its Agenda 2000 put aside monies to ease the pains of transition. Yet since then the CAP has undergone radical reform and guaranteed prices will soon be much reduced. The future for many of these once centrally planned economies looks to be exciting but they will need to note the fears of some that the EU could become a two-tier group of nations, with some noticeably poorer than others.

Some Questions

Mix and Match

1. CPE's

2. CEE's

3 CIS's

4 SOE's

5.material balances

6 input-output analyses
7. COMECON
8. Glastnost
9. Perestroika
10. Monetary overhang

1. Central Planned Economies

2, Ceentral and Eastern Europe

3. Commonwealth of Independent States

4. State Owned Enterprises

5. The sources or supplies of and the uses of individual goods and industries

6. A system of determining how much would be needed of resources etc in order that an industry could meet its production targets

7.The Council for Mutual Economic Assistance

8. The process of opening up the political process

9. The process of allowing market forces to operate within the economy

10. Sums of money that had been saved as unsufficient supply existed to satisfy demand.

Short Answer Questions

1. Outline the major problems faced by transition economies.

The main problems faced by these economies centred on their previous determination to self reliant, their reluctance to use prices as a signalling device within an economy and their decisions to use large parts of any growth they achieved to finance heavy industry and military expenditure. To these we must add:


* A lack of property rights


* Highly centralised planning


* Limited international trade


* Poorly developed capital markets.

2. What then did the transition economies do to move from a command economy to one incorporating market forces?

They set about an extensive programme of price liberalisation, which centred on letting market forces determine how much and of what would be produced. Prices began to reflect consumer demand and producer ability to deliver. 

They removed subsidies and price controls and allowed the market to decide on how much was charged and who could afford this.

They privatised old state-run industries and allowed market forces to move through efficiencies. So letting them become more competitive.

They liberalised trade and accepted entry into international trade and the need for a convertible currency.

They also reformed their banking and financial sector, so making it more accountable and transparent.

3. What were some of the economic costs of transition?

The major costs of transition were:


* sharp rises in inflation and the problems associated with an erosion in the value of money and savings


* a fall in output (recession) and the rises in unemployment - with all its social consequences


* problems with monetary control and fiscal stances. These led to increased pressure on inflation and problems with social expenditure. It also caused difficulties with financing government deficits.

4. Why then did so many differences arise in the pace at which transition proceeded?

It seems that several factors contributed to the differences at which individual countries moved through the transition process. These included:


* the amount of private enterprise that was apparent within individual economies prior to the collapse of Communism


* The ability of individual governments to control inflation, so boosting competitiveness

* The ability to attract foreign direct investment 


* The ability to harness factors of production and to raise labour productivity


* The ability to increase savings and to channel these into investment


* The ability to overcome the legacies of central planning, a lack of democratic accountability and the acceptance of aid from what were once 'enemy' countries

5. Why are some many former Communist countries now seeking entry to the EU?

They see enormous opportunities to boost their average standard of living via:


* Economies of scale


* Greater competition


* Lower costs


* Greater consumer choice


* More product innovation and process development


* Greater access to technology and inward investment

All of these should boost GDP growth rates.

Case Study

In order to come 'onboard' the EU bandwagon the Czech Republic has faced some difficult times. Firstly, trade barriers had to be removed and this allowed a trade liberalisation that boosted imports and exports. 

Some of the present EU members feared cheap imports of goods with a distinct cost advantage, such as clothes and shoes will flood into their economies. Portugal in particular maybe hard hit by the arrival of cheaper alternatives. 

In the run up to Enlargement the incoming countries will have to remove technical barriers, such as standards and inspections at borders.

Others fear that the applicant’s countries will receive increased amounts of investment, some of which should have gone to the older, established members of the EU. Against this the EC states that as many of the applicant countries have already privatised and liberalised trade they have already attracted large amounts of foreign investment. Competition for such funds will mean greater need to boost productivity and improve efficiency. 

However, until tax harmonisation arrives there will always be an advantage in location production in one member state as against another.

Questions

1. What reforms have countries such as the Czech Republic needed to make in order to pass through its transition phase?
It has needed to remove all barriers to free trade and liberalise its economy. State planning has ceased and technical barriers have also required changes. They are now ready to enter the EU as a full member in 2004.

2. In what ways might the Czech Republic continue to have economic advantages over some member states once it enters the EU?

The Czech Republic will continue to have some labour cost advantages and these may allow it a comparative advantage over some of the member states. It is likely that such advantages will arise in those industries where low-cost technology is used and in products where they can add value to a finished item that will be widely sold in the higher income member states, such as motor vehicles. However, the infrastructure of this new entrant is not as developed as the older member states and so it might lose when transporting products over a long distance. At present some taxes in the Czech republic are lower than in the majority of the older members but they do have the advantage of being more widely known and respected amongst potential investor nations, such as the USA.

3. How will countries such as the UK have to react to remain competitive once these new members enter the EU?

Countries such as the UK will have to look carefully at several features of their economy. These will include:


* The mobility and flexibility of its labour force, as productivity will be an important part of remaining competitive


* The ability of the financial markets to move money around without too much delay or increased costs. This is one of the reasons behind the possible arrival of an EU wide capital market.


*the standards of production will need to be high, so as rivals struggle to meet the UK on no-price factors


* The currency costs will have to be able to overcome our lack of membership of the Euro

If the UK does not meet these requirements, then some fear that output will move, all be it slowly, to the new members of the EU. This will cause problems maintaining our high levels of employment.

